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Nombre: Fecha: Puntuacion:
54 x 30% = 20 x 80% =
15 x 60% = 54 x 10% =
28 x 20% = 61 x 80% =
97 < 50% = 78 X 20% =
81 x 10% = 86 x 60% =
79 x70% = 94 %< 30% =
79 x20% = 82 x 50% =
61 x 80% = 3 x40% =
5x40% = 10 x 50% =
6 x 60% = 57 x30% =

www.snowmath.com


https://www.snowmath.com

VI ES&E

Calcular porcentajes de nimeros

Nombre:

54 x30% = 16.2

15 % 60% =9

28 x20% = 5.6

97 x 50% = 48.5

81 x 10% = 8.1

79 x70% = 55.3

79 x20% = 15.8

61 x 80% = 48.8

5x40% =2

6 x 60% = 3.6

Fecha:

20 x 80% = 16

54 x 10% = 5.4

61 x 80% = 48.8

78 x 20% = 15.6

86 x 60% = 51.6

94 x 30% = 28.2

82 x 50% = 41

3x40% = 1.2

10 X 50% = 5

57 x30% = 17.1
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Puntuacion:
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